Algebra II Worksheet





Name___________________
Linear Programming Word Problems

1.  The area of a parking lot is 600 square meters.  A car requires 6 square meters.  A bus requires 30 square meters.  The attendant can handle only 60 vehicles.  If a car is charged $2.50 and a bus $7.50, how many of each should be accepted to maximize income?

2.  Oaken Treasures makes two different kinds of chairs, rockers, and swivels.  Work on machines A and B is required to make both kinds.  Machine A can be run no more than 20 hours a day.  Machine B is limited to 15 hours a day.  The following chart shows the amount to time on each machine that is required to make one chair.  The profit made on each chair is also shown.

Chair

Operation A

Operation B

Profit

Rocker

2 h


3 h


$12

Swivel

4 h 


1 h 


$10

How many chairs of each kind should Oaken Treasures make each day to maximize their profit?

3.  The Algebra 2 quiz consists of computation problems and graphing problems.  Computation problems are worth 6 points each and graphing problems are worth 10 points each.  You can answer a computation problem in 2 minutes and a graphing problem in 4 minutes.  You have forty minutes to take the quiz and may choose nor more than 12 problems to answer.  Assuming you answer all the problems attempted  correctly, how many of each type should you answer to get the highest score?

4.  Tee-Vee makes console and wide screen televisions.  The equipment in the factory allows for making at most 450 console televisions and 200 wide screen televisions in one month.  The chart below shows the cost of making each type of television and the profit.  During the month of November, the company can spend $360,000 to make these televisions.  To maximize profit, how many of each type of should they make?
Television

Cost per Unit

Profit per Unit

Console

$600


$125

Wide Screen

$900


$200

5.  You are the assistant manager of an appliance store.  Next month you will order two types of stereo systems.  How many of each model should you order to minimize the cost?

Model A:  Your cost if $300.  Your profit is $40.

Model B:  Your cost is $400.  Your profit is $60.

You expect a profit of at least $4800.

You expect to sell at least 100 units.

6.  Your school has contracted with a professional magician to perform at the school.  The school has guaranteed an attendance of at least 1000 and total ticket receipts of at least $4800.  The tickets are $4 for students and $6 for non-0sutdents, of which the magician receives $2.50 and $4.50, respectively.  What is the minimum amount of money the magician could receive?

